3y(—2x + 5y) & 7FHs] ofH?

O —2xy—15y? @ —2xy - Ty? ® 6xy — 15y?

@—ny + 15y2 ® 6xy + 5y?

(=2x) X 3y + 5y X 3y = —6xy + 15y?




2.

Bx+4dy)?=ax* +bxy+coy* @, AT a,b,cFa+b+c9
29

® 11 @ 19 ® 25 @ 31 (@)49

(3x)2+2x3xx4y+(4y)? = 9x? +24xy+16y? ©|B2 a+b+c =
9+ 24 + 16 = 49 o|t}.




3. (x+2y)(x—2y) = AAGH?

D x-4y @ x? -2y? @ 2x2 - 4y?

@x2 — 4y? ® x? 4 4y?

X2 = (29) = x* - 4y




22 =24 ]=(x-[)?

® 3 @ 4 ® 5

@ 2

(x—1)2

‘ X2 -2x+1




5.

{4x—(-2x+3)} - (x+1) &7t
® x+4 @ x-2
@ 5x+4 ® 5x-2

@ 5x—4

{4x - (-2x+3)} - (x+1)
=4x+2x-3—-x-1
=5x—4




6. x=-2 y=3<dm, a2 Fg2?

(4x+3y—-1) - (-2x+ 4y +5)

@2 ©-5 -9 @1 O

dx+3y-14+2x—-4y-5=6x—y—6
=-12-3-6
=-21




3x+2y=4dx—y+2 Y& 0|8t y2 +2xy— 1Sy of T3H Aoz
LIEFLH?

@ 3y-3 @y +y-3 ® 6y*+6y-3

@ T +7x-3 ©7y2—4y—1

3x+2y=4x-y+2E x 2 Z5tH x = 3y - 20|t}
ol Ajof el
¥ 4+2y(3y—-2)-1=y>+6y>—4y—1

=7 -4y-1




8. (x—y)* I AAAC] 2 A2?

@ (x+y)? @)(—wry)2 ® —(x+y)?
@ —(x-y)? ® (—x-y)?

&8

(x=y)% = x* - 2xy + 2
@ (x+y)? =2+ 2xy +»*

Q@ (—x+y)?=x-2xy+y*
® —(x+y)* = -2 - 2xy -y
@ ~(x-y)? = -x>+2xy -y
® (—x—y)? = x% + 2xy +)?




® 9x-Ty @ 3x+9y ®)3x+ Ty

@ 9x + 49y ® 3x+ 49y

9x? — 49y? = (3x)%2 = (7y)? = (3x = Ty)(3x + 7y)




10.

x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242




